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B.Com./B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2017.

Third Semester
BUSINESS STATISTICAL METHODS

Common for B.Com. (CS)

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
What are the four types of data classification?
&6 cUMSLILI(HSSIS 6T HT6H(E oUMSSHET LITenal?
Listout the uses of Gemoetric mean.

Qumsase gyrefuder Lwensmer euflesiLBSHS!S.

Find the arithmetic mean and median of 45, 50,

55, 60 and 40.
45, 50, 55, 60, 40— yrafl WHML GerL_Hleve SrewTs.
Explain Quartile deviation.

srewrer aNe&snd — eleu.

Maximum : 75 marks :

10.

11.

Mention any two uses of regression.
QgriGursdler Quam(h Luwensamar @GBS,
Describe the standard deviation.

L alewsssams edleur.

Give the meaning of Index numbers.
@SOS erar QuITHET (.

Which is the most frequently used index number
formula? '

2188 Seradledr LwauRSSLLGWL GHUILG erearrsaflen
GSHD a5

State the utility of time series analysis.

srd Qe euflengufler LweTUT(H&6T WTeneu?

What do you mean by method of semi-average?
u@Ed srmefl pep uHBl § <ifleus eramen?
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

(a) What are the requsists of good average?

oww  CursE emeusafler @emHlweowm
(GTBIGET WITEnE?

Or
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(b) Calculate Harmonic mean of the following
, data : »
Marks 30-40 40-50 50-60 60-70 70-80 80-90 90-100
Frequency 15 13 8 6 15 7 6

Memau@pd  sHeUOSEREETaT  Qangsayraflen s
ST 5. :
wHuQuerr 30-40 40-50 50-60 60-70 70-80 80-90 90-100
- mobeuar 15 13 8 6 15 h 6

12. (a) Calculate standard ' deviation for the
following data : ;
21020 30 40: 50 60

Foosl a2y 200307 08

Saramib eNUTRIGEREE SLL l&sid srams.
x 10 20 30: 40 50 60
foua ol 20000009 13

Or

(b) From the following data calculate Bowley’s
measure of Skewness.
Age 0-10 10-20 20-30- 30-40 40-50
No of students 8 lid 26 9 6
SpsarL  urhisEnsEg uedluiar  GCemiL
SICTENE HTGTS. :
eULIg) 0-10 10-20 20-30 30-40 40-50

LD ITGRT 6L T & 61Tl 63T 8 11 26 9 6
TGN S
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13. (a) Ranking of 10 trainees at the begining (x)
and at the end (y) of a course are given
below : Calculate Rank correlation

o A6 W39 dRO & 70 C10 R S

RS YL s AL 4 R o T R )
@f  uulnsslude asa);r_'r,gu Qe 10
vi@psSlureriseflen s euflans psadle (x)
womid (igeder (y) Qar@ssiiul(Hererg Qamss
Qaran(® cuflangs Qam_iienLs saédl (.
L R G e e o - SR
A e e T SR R T

Or

(b) From the following information. Calculate
line of regressionof y on x.

5 U
Average 40 60
Standard deviation 10 - 15
Correlation co-efficient 0.7
Spoupld  gaeudsaldlmbs x  Bsrery e
Cgm_rCursg Carliyaman saésd (Hs.
Xlp s
gyma 40 60
AL efwssn 10 15
@l (e Qe 0.7
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14. (a) From the following data construct on index
for 2014 taking 2013 as base.

Commodities A B C D E

Price 2013 50 40 80 110 20

Price' 2014 ' "0 601190 12020
emeumd eluphisemers Qaram@ 2014 b
< arig DaTen elleney @GNl O amenenT serL_Hs.
2013 b ge@merl. gLl YT TS
T(h&8IE Qamers. '
Quimmeir Aol ok DR

e 2013 50 40 80 110 20

efene 2014 70 60 90 120 20

Or

(b) What are the uses of index numbers?
GO (B eremmaetlen LIWETSET WiTeneu?
15. (a) Calculate 4 year moving average.
Year 2008 2009 2010 2011 2012 2013
Production ' *374 w31 "WGBT < 393 295 479
4 au@pL p&LD sy sansd ().
<em@® 2008 2009 2010 2011 2012 2013
o pusd 374 311 387 393 395 479

Or
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() Fit a trend line by the method of Semi-
averages. :

Year 20092010 20112082 2013 2014
Sales (000) 60 75 S0 R 108 U] 20

ugd ermefl  pop  apeold fEmCﬁu 1E:1G

CrrGamigamen i s.
<@ () 2009 2010 2011 2012 2013 2014
eHLiene g0 nins . B e 190,

(000)

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions only.

16. Find out Mean, Median and Mode from the
following data :

x 0-10 10-20 20-30 30:40 40-50 50-60 60-70

Fs e a5 g e Sy
SP&MEID LTeuIGE sl HEsyrsf, Qe Hlaa whmib
W&[H sTaTs. 4

x 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Fills 12 30 45 50 gp 09y

17. Compute the standard deviation and mean
deviation from the following data :

x 0-10 10-20 20-30 30-40 40-50 50-60 60-70
fi 8 121055 E 14 9 7t 4
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Spsramid  elemsaflaBis S Lelewssid 20. Compute the average seasonal movement for the

O syref N&HLD Srans. following series
x 0-10 10-20 20-30 30-40 40-50 50-60 60-70 Year Quarterly production
I
D S L AL G Ny
: 2010 3.5 49 39 3.6
18. Compute Karl Pearson’s correlation co-efficient for 2011 35 41 37 40
the data given below : 2012 a8 889 3.7 4.2
200 B8 @Y 67 68 69 H1 73 ' 2013 4.0 46 39 45

y 67 68 64 68 72 70 69 70 2014 4.1 44 42 47

I_Cﬂevrm@m AsTL&@ syref LmeusTa B&T6 &;mraséﬂ@

arited wirsafler @l One| Qapelmarn saméss (Hs. QUMmLL ST e Husd

X 6% Bo 87" 67 .68 89 71 73 : A A
y 67 68 64 68 72 70 69 170 2010 35 3.9 39 36
' 2B i a3 4
19. Calculate index numbers by 5 methods. ' 200995 38 39 49
o ik 2018 40 46 39 45
Commodity Price Quantity. Price Quantity 004 40 48 42 a7
A 5. 50 4 48
B W8 48 7 49
C 6 18 5 20
5 wepsamerys LTRSS GMNIL QL Grsamen smams.
2011 2012
Qumer elemew ety elewe DjeTey
<2 5 50 4 48
<2} 8 48 « 49
@ 6 18 5 20
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